
Lab.343



Determination of the rate constant  and 

order of the sulphite – iodate reaction



The time elapsed from the start of reaction 

until the second step of reaction occurs.



1. 3H2SO3 + HIO3  slow     3H2SO4 + HI      ×5

2. 5HI  +  HIO3   rapid(fast)   3H2O + 3 I2

15 H2SO3 + 6 HIO3                  15H2SO4 + 3H2O  +3I2



Rate = R = K C n

where    K= rate constant
C= Concentration of sulphite (mole/l)
n= order of reaction with respect to               

sulphite

R = C/t

where        C= Concentration of sulphite (mole/l)
t= the induction period          

logR = logK +n logC



1. Na2SO3 ( 0.01M)            250ml 

2. Weight 2 gm starch are dissolved in 10 ml H2O, and 

added drop by drop to about 100ml boiling water.

3- 4- KIO3 ( 0.0211M)          100ml



Series (I) Iodate
(ml)

Dist. H2O
(ml)

Sulphite
(ml)

56530

57025

57520

580`15

58510

in

1 32

Stopwatch



logRlogCR=C/ttC

-ve-ve3 × 10-3

valuesvalues2.5 × 10-3

2× 10-3

1.5 × 10-3

1 × 10-3

N × V (conc.) = N × V (dil.)
Ex. 30 × 0.01 = N × 100
N dil. = 3 × 10-3 M 



Iodate
(ml)

Dist. H2O
(ml)

Sulphite
(ml)

76330

76825

77320

778`15

78310



logRlogCR=C/ttC

-ve-ve3 × 10-3

valuesvalues2.5 × 10-3

2× 10-3

1.5 × 10-3

1 × 10-3


